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QUESTION 1

Which RIP message type is used to deliver route information to neighbors? 

A. Update message 

B. Request message 

C. Route reply message 

D. Response message 

Correct Answer: D 

 

QUESTION 2

Two Level 2 routers are exchanging Hello packets with different Area IDs. What occurs between these routers? 

A. An Adjacency forms but traffic is not forwarded. 

B. An Adjacency does not form. 

C. An Adjacency forms. 

D. No IS-IS PDUs are sent. 

Correct Answer: C 

 

QUESTION 3

From within the [edit] portion of the configuration, which command restores the number 2 rollback file? 

A. run rollback 2 

B. rollback 2 

C. run request system rollback 2 

D. request system rollback 2 

Correct Answer: B 

 

QUESTION 4

Which message is used to transport routing information between BGP peers? 

A. Open 

B. Active 
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C. Keepalive 

D. Notification 

E. Update 

Correct Answer: E 

 

QUESTION 5

What are three characteristics of RIP? (Choose three.) 

A. uses hop count as the metric 

B. supports maximum allowable hop count of 15 

C. sends updates only when a route metric changes 

D. floods updates to all RIP routers in the network 

E. uses Bellman-Ford algorithm 

Correct Answer: ABE 
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